ELT 248
Assignment 3

1. Calculate the change in controller output if the setpoint changed 10% with a proportional band setting of 50%.

2. For a hot water demand of 500lb/min, a proportional controller has a setpoint of 150°F.  The measurement range of the temperature transmitter is 50 - 250°F, therefore the setpoint temperature is 50% of the span.  The controller gain is 2.  The controller positions the control valve at 62.1%. The control error E is 0 at this position. 

a. The setpoint is changed to 160°F or 55%. The controller positions the control valve at 52.1%. What is the control error?

b. The setpoint is changed to 140°F or 45%. The controller positions the control valve at 72.1%. What is the control error?

3. Describe the function, advantages, and disadvantages of using a controller in proportional - integral mode.

4. Describe the function, advantages, and disadvantages of using a controller in proportional-derivative mode.

5. [bookmark: _GoBack]Describe the function, advantages, and disadvantages of using a controller in proportional-integral-derivative mode.
